PMB Gujarati Commerce College, Indore
Internal Exam — 20... -20....
B.B.A —1year
fawa—facia eraie-
Subject:- Financial Accounting(Major I)
Q.1) According to --------- concept capital of owner shown in the liabilities side of balance sheet: —

............ JAIROT & AR FAAI & WM B Yol dI s & IR uer H foren S 8 —
(a) Separate entity  (b) Continue concern (c) Accounting period (d) Materiality
(31) grep 3R & (d) o] FIA™ DI () oRkdT @l B (@) i
Q.2) According to the cost concept the assets are always valued at: —

AT YR & AFAR ARl Ad Hedlfdhd I SRl & —

(a) Market price (b) Purchase price (c) Current price (d) None of the above
(@) IR e WX (d) I oI W () T oI W) () SWRIGd § | IS &
Q.3) According to modern approach on increasing assest and liability ------- assest a/c and ------ liability a/c: —

IMYFTh REPIV & FAR FaAI H AHfed T IR g+ IR ARl W Bl ... LERCURCIREI G|
DI ... BT

(a) Debit, credit (b) Credit, debit (c) Debit, debit (d) Credit, credit
Q.4) Life insurance premium of owner will be debited to -------- account and employee will be debited to -----
account. : —

YA S W DI Sfrad H N T ¥ Sfde vd wHaRal & Shaq 9|7 N ICI]
7 sfae a3

(a) Life ins. Premium a/c & Life ins. Premium a/c  (b) Drawing a/c & drawing a/c
(c) Drawing a/c & life ins. Premium a/c (d) Life ins. Premium a/c & drawing a/c
Q.5) Trade discount is calculated on : —

RS g€ B ITUFET Bl A & —

(a) Selling price (b) Purchases price (c) List price (d) None of the above
(@) P g R (@) I &I R (@) g 99 R (T) SWRIGd § A IS -Ta!
Q.6) Payment of income tax is debited to : —
JMABR. BT YTATT oo grd ¥ sfde e —
(a) Income tax a/c (b) Capital a/c (c) Drawing a/c (d) Provision for tax a/c
(31) JMIBY T ) goil QT (|) SN T (T) SMIBN UTILT Gl
Q.7) Capital and drawing account are -------- personal account : —
PGIRCINIIRE RIS I E—— fFTTT @ & —
(a) Natural (b) Artifical (c) Representative  (d) None of the above
(37) UTRHfa® @) &> (&) gfaffere (@) SWRITT § F Pl Aal

Q.8) Amount of purchase of machinery is debited to --- account and establishment expenses is debited to-- a/c :

7o B @Y fdr G § UG WIMYAT FF Y Af g ° Sfee arft —

(a) Machine, Establishment expenses a/c (b) Machine, machine a/c
(¢) Machine a/c, P&L a/c (d) Machine a/c, Expenses a/c
Q.9) The balance of bank column of cash book is : —
AHe GH & S W™ &7 AY BT & —
(a) Always debit (b) Always Credit (c) Debit or Credit (d) None of the above
@1 & Sfae () BHe Bise @) sfae a1 Bfse (T) SWRIaT § A BIs T8

Q.10) Credit balance of bank column of cash book show : —

AdHe TWIF H §a W™ & Hfec Ay gofar g —

(a) Deposit amount (b) Bank overdraft (c) Total payment (d) Total receipts
@n 9% # 5 Al () d@ srfafaey (4) B A (]) e wTftTn
Q.11) Cash deposited into bank is ----to cash column and ----- to bank column of cash book :

% H S DI TS ADHS AR BT Ade WD & ADHG W™ H ... U&Tﬁ@ﬁ‘cﬁ?ﬂmtﬁ ......... T H
foref —
(a) Debited, debited (b) Debited, credited (c) Credited, debited (d) Credited, credited



Q.12) Amount of bearer cheque show in ---- column and crossed cheque in ---- column of cash book : —

IS J&IP H d8d ddb DI UM ... w1 ¥ U Y@ifd 9% o Wit .. W H i grh —

(a) Cash, Bank (b) Cash, Cash (¢) Bank, Cash (d) Bank, Bank
Q.13) Patent and goodwﬂl are ---------- accounts: —
YT Td M . G B & —
(a) Natural personal  (b) Artifical personal  (c) Real (d) Nominal
(31) urepfde wfdard (@) B wafddd GIEESIEED () AHHE=
Q.14) Account of income and expenditure are called ---------- account : —
3T &g TR @ ® W@ B & —
(a) Assets (b) Nominal (c) Personal (d) Real
(1) ¥t (@) A () afdaTd (]) arefd®
Q.15) —---—---- is summary of business transaction of whole year : —
.............. TR D T ARG FGERI BT AR &
(a) Journal (b) Ledger (c) Trial balance (d) Profit & loss a/c
(31) ST CREISIES] (H) detue (]) eH—aTA Q@
Q.16) According to modern approach Income account -------- on increasing income and Expenses account ------
on decreasing expenses : —
YD DIV & ATAR AT &1 W 3 WIAT ... V& P TS WR G Wl ...... fehaIT ST & —
(a) Credit, credit (b) Debit, credit (c) Credit, debit (d) Debit, debit
Q.17) According to modern approach Expenses account -------- on increasing expenses and Income account ---

--- on decreasing income : —

IAMYAH SEDIV & JTAR T g&- R Y G ... Td A TS W A WMl ....... fbar Srar & —

(a) Credit, credit (b) Debit, credit (c) Debit, debit (d) Crebit, debit
Q.18) Balance of assets accounts written in ----- side and income account in ------- side of trial balance : -
e @Tal T A9 TAUC H ..o UeT H UG T WAl Pl Y defdc H ... geT # fore T —
(a) Debit, debit (b) Credit, credit (c) Credit, debit (d) Debit, credit

Q.19) On purchasing assets debiting purchase account is an error of -------
AR HF B W 5 QAT A BT DI MY ... UhR B AYE § —
(a) Omission (b) Principal (c) Compensatory  (d) Commission
(@) BT oM arell (@) Hgifds  (9) dfdwm® SRESIES
Q.20) Cause of depreciation: —
e g1 &1 BRI 8 —

(a) By constentuse (b) By expire of time (c) Obsolescence (d) All of the above

(@1) fR=R 1T (@) g dd 89 W) GIELESE (@) SWRIFd T4
Q.21) Outstanding and prepald expenses accounts are ----- nature of account : —

3 T U4 A I G ... EEARECRCIG I —

(a) Assest (b) Real (c) Representative personal (d) Nominal

(31) Fwafe @) ardfae (W) afddal &1 ufafEE &= are (&) AHATH
Q.22) Intangible assets : —

aHfed & —

(a) Land & Building (b) Furnitur (c) Patent (d) Cash

(1) 1A T e (@) wffer (@) were (3) Ps
Q.23) According to modern approach assest account -------- on decreasing assest and liabilities account ------

on increasing liabilities : —
YIS TaRYRT & STIR G g Frfcd W ... T IR 984 WR S @Ma ...... fba
STdT & —
(a) Debited, debited (b) Credited, credited (c) Credited, debited (d) Debited, Credited

Q.24) Transctions which are not recoreded in any of the subsidiary book are recorded in -------- .



=l ff ers geas # 7 oy S a1l gagR W g Ry o ® —

(a) Journal proper (b) Ledger (c) Trial balance (d) Trading account
(31) FTer faey ORCIGIEE] (|) Teluc (%) MUR WQrr

Q.25) Subsidiary of cash book -------- .
s &P & AeId JRd & —

(a) Journal (b) Ledger (c) Petty cash book (d) Sales book
(8r) Stefer (@) waEE  (9) 7Y Abs THD () faswa geas
Q.26) Posting of cash sales done on ------- basis and sales book done on ----- basis

T faa @ @A L Td fama 981 @ @Al @ SRl § —
(a) Per day, perday (b) Per day, monthly (c) Monthly, per day (d) Monthly, monthly
(@) ufafes, ufafes (@) gfafes, aiie @) oiR¥®, gfafes (]) AI®, A1RTS

Q.27) Total of discount allowed and discount received columns of cash book are posted in ---- side of discount
allowed account and ------ side of discount received account

e JRIH & T DRl WG & AN B A aF Heldl D B ... Uel H Ud UT ekl @
@ IR BT WA I peld) W B ..., geT H BRI —
(a) Debit, debit (b) Credit, credit (c) Debit, credit (d) Credit, debit

Q.28) Errors not disclosed by a trial balance -------- .
deUec | e Tl sarel fadl —
(a) Commission (b) Principle  (c¢) Compensatory (d) All of above

(31) feare @) deriae (@) afaRs (@) SRITd a4

Q.29) More appropriate method of charging depreciation on building and machine -------- .
Yo+ Td HE WR g Bled Bl 98k Ugfd & —

(a) Fixed Instalment (b) Diminishing balance (c) Annunity (d) Production method

(31) T fohed (@) AN @) aiffer fafr  (]) STeT S@TS
Q.30) -------- is ppropriated method of charging depreciation on asset which required big amount of
replacement : -

TiReITI TR f¥d A H &9 & dTell Sfdl R g ... A § R Sagad 8N —

(a) Fixed Instalment (b) Reducing balance (c) Depreciation fund  (d) Efficiency hour
(31) et fova (@) Tedr Ay (A) g9 Py (3) Prierar gveT



PMB Gujarati Commerce College, Indore
Internal Exam — 20... -20....

B.B.A. — I year
va— =aaf¥e g

Subject:- Business Mathematics(Major II)

Q.1) If 4x + 20 =0, then value of x will be : —
IfE 4x+20=0, 81 AT x BT A BFT —

(@ -5 (b) 5 (c) -10 (d 10

Q.2) If 4x + 2y = 6, then value of y in terms of X is : —
AfS 4x+2y=6,8T Al x & YTl H y HIF BN —

(@ 3+3x (b) 6-x (c) 3-2x d 3+x
2

Q.3) The sum of two numbers is 64 and their difference is 8. These numbers are: —
QT TRl BT AT 64 TAT AR 8 ® | I AT § : —

(a) 26,38 (b) 28,36 (c) 30,34 (d) 30,38

Q.4) Two numbers are in the ratio of 7:13, their total is 100. These numbers are: —

ST AU 7:13 & AU H & | STHT AN 100 B | I HE&AW T : —
(@ 7:93  (b) 14:86 (c) 28:72 (d) 35:65

Q.5) Double of the total of two number 60. Their difference is 6. These numbers are: —

QT GRTAT @ IRT BT AT 60 & AT 3R 6 8| I A& & : —
(a) 18,12  (b) 14,16 (c) 14,20 (d) 20,26

Q.6) The total of two numbers is 7 and product is 12. The big number is : —
S EARI & INT BT 7 & OAT TUADBA 12 2 | 91 G 8 @ —

@ 7 () 6 () 5 (d 4
Q.7) The sum of two numbers is 16 and 8 times of their difference is equal to their sum these numbers are : —
31 AT & ART BT 16 B | I8 AR BT AT 0N I9d AN & a-IeR & | I G © : —
(a) 8,8 (b) 10,6 (c) 7,10 (d 9,7

Q.8) Invoice includes : —
fIoTp § Seord fhar T § ¢ —

(a) Quantity of goods (b) Value of goods (¢) Trade discount (d) All of above
(31) AT BT AT (@) AT BT eI (@) UIRSE dcer (T) SWRIad a1

Q.9) Which invoice is prepared before purchase : —
AT A B D Jd DI AT ot 91T Il & - —

(a) Ordinary (b) Proforma (c) Franco (d) All of above
(@) TR (@) et (¥) wdeag gad (3) SWRIFd T4



Q.10) Expenses added in franco price invoice : —

Adg ad Jed dioidh § I SIS Od © : —

(a) Packing (b) Freight (c) Insurance (d) None

(1) ofdp (@) T () & (8) Bz &I
Fill in the blanks : —
Rad wrm=r @ gfid a1 - —
Q.11) Foreign invoice is sent by ----------- to----------
........................ ERT e, BT ST ST B
Q.12) - invoice is prepared in case of goods sent on approvel or sale or return bases.

ATl TG T a9 BT I TN Wold IR ol =11 ST 2 |

Q.13) There are -------------- types of invoice.
D o UHR & B o |
Q.14) Matrix is a ------------ which is made by scalar number.
amrege srfewr Ml | AT U 2 |
Q.15) The number written in matrix is called ----------------- of that matrix.
Mg # foRed g SA® PEAT © |
Q.16) There is any one in column matrix.
T SMRE H DHAA TP oo BT B |

Q.17) In unit matrix the all members of principal digonal are

SH1g e § T fadmof & fl Q1a¥d BB |

Q.18) Addition of two matrix is possible if both matrix are of

3T JATGE! BT ANT T FHG © STd QL IMMT oo S 8l |

Q.19) In digonal matrix all members expect the members of principal digonal are

faeot anmeE e fawot sraudl @ Bredy AT W TG ... B |

Q.20) In square matrix numbers of row and are same .



PMB Gujarati Commerce College, Indore
Internal Exam — 20... -20....
B.B.A. — I year
Subject:- Business Statistics (Elective)
fovg— aeiie AiRkaaa

Q-1.Statistics is useful in-

ARegaT IUAT ¥ -
(a) Administration ( b) Business (c) Economic analysis (d) Above all activities
CIRIGEREL] (@) caara # () e fageryo (@) SWad |41 Tt |
Q-2.The job statistics is to-
(a) Help in classification of data ( b)Test a hypothesis
(c) Indicate trend behavior (d) All of these
ARIBT BT B B -

(@n)em@mel @ aTdHRUT H HAREAI(d) JTERT & Wiev (|9) yqfed & Ffde H-A1() SwWiaa a4
Q -3. How the term statistics is called in terms of lies -

38 & A< # W@ BT T FET A © -

(a)White lies ( b) Black lies (c) Multichomatic lies(d)Rainbow lies
(1) W 3 (@) ren 3o (W) 9g%h 5o (]) g=erg 3o
Q-4. Statistics in term of nature is.

Ty & gfte ¥ wifera 3
(a)A Science (b) An Art (c)Art & Science both (d) Neither Art nor Science
(3) U fas= (§) U Hall () fasm 8k werm < 1 (@) 9 fag™ T Hell AT

Q-5. . Statistics studies

RGP 31T DRl & -

(a) Individual ( b)Aggregates (c) Individual units and aggregate (d) None of these
(@n)eafdaTe gebrgal B (@) et a1
(3) YeafadTa gHhrgAl Ud THET @) 379 A P TR
Q-6.Method of Investigation is -

3reT @ AfT -
(a) Consul (b) Simple method  (c) Both of above  (d) None of these
@1 T df () gfaest df () Sugad (@) T & BIS &I

Q-7.The object and scope of statistical investigation are decided -

GRYPII AN & I Ud & fed fha o 2 -

(a) Before the compilation of data (b) After the compilation of data
(c) During the compilation of data (d) Never

(37) sffdmsi & Fdhed & g4 (@) sifpsl & HAhed & 418
(%) 3ifepel & Hehed & dra (@) B4 TEi

Q-8.The best method of sampling is random sampling because -

(a) It is less expensive (b) Itis time saving (c) It is lab our saving (d) The selection of unbiased
@nTE BF el & (@) 399 HH THI AT @
() 379 uRs™ B\ oar § (%) SHIAT BT GG Y ool &l B

Q-9.Every unit of the population is studied -
T & YIS IHT8 BT A a1 S z-

(a) Multistage sampling  (b) Cluster sampling (c) Census method (d) none of these



) JgENg FeeM § (@@gE e a8 @) 9o R 4 (]) 599 9 @iy 718l

Q-10.Sample is the representative of -

=reet gfafafer g 8-
(a) Universe (b) Investigation (c) Data (d) none of these
(@1) |HT BT @) IrsET & () FHD BT (@) 3779 | DI T8

Q-11.The data collected by the Investigator himself is called -
LS §RT W Hhford fHd T sfidwel Bl el ST 3-

(@) Primar (b) Secondary (c) Both primary and secondary (d) Both of these
(31) urerfie C)RERIPED (@) wrarfie va fgdae (@) S # ¥ Py TRl
Q-12.The method for collecting primary data is -

I AHPBT BT Thal b B fafdr 2-

(a) Direct personal investigation (b) Indirect oral investigation
(c) Information through local co responders (d) All the above
(31) uceT eafdaTd g () sycue Aifkady rgHeT
(F) W FRTGaTdr3 gRT SIFdhNRI U (X) SUgad |+l
Q-13.Goverment publication is -
ARBHTRY UL 2-
(@) Primary data (b) Secondary data (c) Both (d) None of these
@1) urerfae HHe C)ERIREARREY () <=t (@) STH & PIg &l

Q-14.Sources of secondary data are -

fediae G99 & g 2-

(a) Data obtained by survey for the purpose (b) Data obtained by personal investigation
(c) Production records of firm (d) All of the

)
(a)@?ﬁiﬁmﬂﬁwﬁwm ) I TReToT §RT Hbford HHG
(%) < (@) 379 & BIS 7

Q-15.During classification data is arranged in -

TifThv0T B ST AHDT BT FaRerd fhar Siar e-

)

(a) Different rows (b) Different columns

(c) Different columns and rows (d) Grouping of related fact in different classes

(@) fafr=r dfaaar # (@) fafr= =i |

(@) fafe= w1t ua dfoqar # (}) wiffad qaf & @9g & fAfa= o
Q-16. Which is the merit of a good questionnaire -?

3TeE! URATIell &7 HI AT T BIT -

(a) Proper sequence (b) Proper place

(c) Question short abd clear (d) All of the above

(1) 3fad &= (@) S <=

(%) 9e BIC Ud W ?) Swe

Q-17. When both Lower and upper Limit are considered.such classes are called -

o9 fael @R U S Wl IR faR $Rd g 9 U 9 el e-
(a) Exclusive (b) Inclusive (c) Mid value (d) Cumulative

(31) Tt (@) e (4) 7 o (@) F==q

Q-18. In an exclusive series -



U 3uqeil ol # —

(a) Both class limits are considerd (b) The upper limit is excluded
(b) Both limits are excluded (d) The lower limit is excluded
@ ot @ TF ARt R fauR feur St & @) U A & ara far Ser '
() a1 ARl o Mara faar srar @ (@) el A &1 Mare fear Sirar §

Q-19. Difference of upper and lower limit of a class is called -

foft ot B HI T e T B FR Bl deEd © —

(a)Class frequency (b) Magnitude of a class interval
(c) Class limit (d) mid point
(a7) @t amafea (@) a=R R (&) o () wea-fawg

Q-20. Which is not a type of statical table from the following -
fA=faRad § | BT e Ailkeda IRl BT yeR A8 § —
(a) Individual (b) Discrete (c) Continuous (d) Signed
(31) =fdTa (@) @ftsd @) srEfied (@) farfga



